
11144 11144.5 11145 11145.5 11146
cyclenum

1

1.5

2

2.5

3

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

4−

3.5−

3−

2.5−

2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

8310

8310.5

8311

8311.5

8312

8312.5

8313

8313.5

8314

ru
n

run:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8312}



11144 11144.5 11145 11145.5 11146
cyclenum

74−

73.5−

73−

72.5−

72−

us
l_

1X
usl_1X:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

4−

3.5−

3−

2.5−

2−

us
l_

4a
Y

usl_4aY:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

6.6

6.8

7

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

us
l_

4e
X

usl_4eX:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

21

21.5

22

22.5

23

us
l_

4e
Y

usl_4eY:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

38−

37.5−

37−

36.5−

36−

us
l_

12
X

usl_12X:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

8310

8310.5

8311

8311.5

8312

8312.5

8313

8313.5

8314

ru
n

run:cyclenum {run == 8312}



11144 11144.5 11145 11145.5 11146
cyclenum

118−

117.5−

117−

116.5−

116−

us
r_

1X

usr_1X:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

5.8−

5.6−

5.4−

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

us
r_

4a
Y

usr_4aY:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

168

168.5

169

169.5

170

us
r_

4e
X

usr_4eX:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

18.6

18.8

19

19.2

19.4

19.6

19.8

20

20.2

20.4

20.6

20.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

39−

38.5−

38−

37.5−

37−us
r_

12
X

usr_12X:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

8310

8310.5

8311

8311.5

8312

8312.5

8313

8313.5

8314

ru
n

run:cyclenum {run == 8312}



11144 11144.5 11145 11145.5 11146
cyclenum

16693.5

16694

16694.5

16695

16695.5

us
l_

co
il1

usl_coil1:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

2262

2262.2

2262.4

2262.6

2262.8

2263

2263.2

2263.4

2263.6

2263.8

2264

2264.2

us
l_

co
il3

usl_coil3:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

5396.5

5397

5397.5

5398

5398.5

us
l_

co
il4

usl_coil4:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

3061−

3060.5−

3060−

3059.5−

3059−us
l_

co
il6

usl_coil6:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

2775

2775.2

2775.4

2775.6

2775.8

2776

2776.2

2776.4

2776.6

2776.8

2777

2777.2

us
l_

co
il7

usl_coil7:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

8310

8310.5

8311

8311.5

8312

8312.5

8313

8313.5

8314

ru
n

run:cyclenum {run == 8312}



11144 11144.5 11145 11145.5 11146
cyclenum

15128.5−

15128−

15127.5−

15127−

15126.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

1966.5−

1966−

1965.5−

1965−

1964.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

4942

4942.5

4943

4943.5

4944

us
r_

co
il4

usr_coil4:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

2866.5−

2866−

2865.5−

2865−

2864.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

33750.6

33750.8

33751

33751.2

33751.4

33751.6

33751.8

33752

33752.2

33752.4

33752.6

33752.8

us
r_

co
il7

usr_coil7:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

8310

8310.5

8311

8311.5

8312

8312.5

8313

8313.5

8314

ru
n

run:cyclenum {run == 8312}



11144 11144.5 11145 11145.5 11146
cyclenum

134−

133.5−

133−

132.5−

132−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

12.5

13

13.5

14

14.5

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

246

246.5

247

247.5

248

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

235.5−

235−

234.5−

234−

233.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

24−

23.5−

23−

22.5−

22−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

255.2

255.4

255.6

255.8

256

256.2

256.4

256.6

256.8

257

257.2

257.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8312}



11144 11144.5 11145 11145.5 11146
cyclenum

293.6

293.8

294

294.2

294.4

294.6

294.8

295

295.2

295.4

295.6

295.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

110.5−

110−

109.5−

109−

108.5−4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

39−

38.5−

38−

37.5−

37−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

274

274.5

275

275.5

276

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

139.5−

139−

138.5−

138−

137.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

33−

32.5−

32−

31.5−

31−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8312}



11144 11144.5 11145 11145.5 11146
cyclenum

235.8−

235.6−

235.4−

235.2−

235−

234.8−

234.6−

234.4−

234.2−

234−

233.8−

233.6−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

90−

89.5−

89−

88.5−

88−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

6.5

7

7.5

8

8.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

524−

523.5−

523−

522.5−

522−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8312}

11144 11144.5 11145 11145.5 11146
cyclenum

8310

8310.5

8311

8311.5

8312

8312.5

8313

8313.5

8314

ru
n

run:cyclenum {run == 8312}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


